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Spots 47, 63, 66, 81 - HSP85
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Spots 47, 63, 66, 81 - HSP85
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Spots 47, 63, 66, 81 - HSP85
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Spots 49, 50, 51, 75, 77, 78, 86, 87 - dehydrogenase
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Spots 65, 66, 69, 84 - beta tubulin
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Spots 65, 66, 69, 84 - beta tubulin

b1l

afetp +y—c FQ+I—+F—+R—+P+D+N+-F—I
—K tA+=w —+N +N AGAIGHS+Q-GHF 1 I——F

—+F eGSR AR TR 2
N+D +p+R—tF—I—+Q ey —+prdcia

b22+1

m/z

b9 y24
b5 beyspSyneeyo el yiPiF30130ya5nisyeDITABIBIRANY | o]
0 1000 2000
m/z
y15
—F +w—+Ee+V+i—+tstp +E+HAGHV+D+P+T GHT +Y—+0Q -Igr'stl)-go2 flflsﬁ-MDU-I:I}igiim-l—EE(ﬁ—stﬂ
—R—+E+L+Q+L+D+S+D-GFQ+Y—+T4GH +p +D+VAGHH+E+D+S+1—+v +E+w —F -
y7
YD y20
vyl v2 yB3vi L y89 ypaounidas | vienas i® bp2 P22 2025 b26
0 1000 2000 3000

m)

m)



Spots 1, 3, 7, 14, 16, 20, 34, 161 - mitochondrial heat shock
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Relative Intensity

Spots 1, 3, 7, 14, 16, 20, 34, 161 - mitochondrial heat shock
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Spots 9, 31, 62, 64, 70, 80, 96 - alpha tubulin
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Spots 9, 31, 62, 64, 70, 80, 96 - alpha tubulin
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Spots 32, 55, 73, 171 - tyrosine aminotransferase
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Spot 174 - cytochrome C oxidase subunit IV
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Spots 24, 25, 26 - glutamamyl carboxypeptidase
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Spot 170 - activated protein kinase C receptor
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Spot 170 - activated protein kinase C receptor
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Spots 60, 71, 72, 73, 74, 80, 82 - trypanothione synthetase
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Spots 60, 71, 72, 73, 74, 80, 82 - trypanothione synthetase
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Spot 24 - enolase
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Spots 57, 69, 71 - elongation factor 2

m/z

v8
I W G D —s—t = | Fl.184,?2lMEL)J +1:H (Pareint Error: -23 ppm)
K —A— D F } F —S 5 D -G W } L—
va
9
y5 b )
805,97
3 b Wb?
v b2 b4 . b5 I l bo
N y.ljl ]n i Il..qglﬂ al bl .II. N \lll:n.n.-n.hiltu\ A.ll. N Y T nli |III L |||n||
0 250 500 750 1000
m/z
v2
1.307,61 AMU, +1 H (P E 11,2
— K ——I———W———C+57 ——Y——+G o A, 2 | Cope By L2 ppm)
R —N D——P—-G+ Y }—C+57— W } | } K—
yi | b8
[!Ibll I b,lzi m |.. n AL P/l b4 b5 b‘.6 !yl7. .I.I...Jyl8 " p.gl y|9 l.l.;u.
0 250 500 750 1000 1250
m/z
yll
1436 69 Al H P E : 1,1
—0 —s——F —+V—A+A Qo—t r l’g_( arqnt Egror L1 ppm)
R : T—'—A W_|—Q_|_W_|-A+A_|_V : | S D—
yl
b5 b6
315,22,
; J | Pl
Hl ‘ \ ..ml: .I.m. lm“ mn nII II e In.H: b ﬁ @. b:ILO y%?. |...
0 750 1000 1250
m/z
parent+1H-64
1.492,68 AMU, +1 H (P: T-71
—bD —+—L —+—Q—+—E—+ F—Mm+16 —+—N—+G A+;HuiemK—pm)
—K —|—L—|—P—|-A—|-G-I—N—|—M+16 +—F—+—D—+—E—+—Q—+—L—+—D—]
. y|5 V6 9 b b10
4 11
I bzll |_ )nll " m..ltlS..nl “.|y|.I7.u. AR T Ih | I )I/l NTIEN ‘i.
0 250 500 750 1000 1250
m/z
\4
1681,8 2,
- L —+A4—D Kv5 F —D— W —D \:I;y:l(AJAVI 1H(Par§nt Error 7p m)
—R—+A+—E—+A+-V } W D—t F——K D—|‘A'|_L—|—F—
y2
vt I; i yo ol ys 9 11
o L P2 b3 | ps L0 . P bs YR | bifftvap
0 250 500 750 1000 1250 1500



Relative Intensity Relative Intensity

Relative Intensity

Spots 57, 69, 71 - elongation factor 2

vl
100% —
6 T —HV—A+—I—+GHS—+GH—L ——Q—HA+—W—tAT—F s v T R
—R— T+ yrt+S+—F—+A+—W—F+A+—Q——L—+G+SHC+—I—+A+v—+-T—tc
50% 1
EERE] BN va V6 y7 Y8
b P y1l2 | y16
0% L | i .q‘&ﬂ{ . I Ly |.I ||| I I||I||
0 1250 1500 1750
100% Y10
FA+—1—t+L—+—€e—+L—+-Q—+L—+D—r —|—E—|—E—|-A-I—2'\(()62' S gMﬂfg]li&PﬂvE[fL]%A—p
—K —+v —+—F —t6 +—Q—+—Y—+A+—E—+E—+P+D—+L—+-Q—+L—+—E—+L—+—1—FA
50% 1
11
y6 Y/ T 12
» o 035 08 07| 0¥ yo [ bibi?Popas | vis yie
(1] T T T T T T T T
0 250 500 750 1000 1250 1500 1750 2000
m/z
100% vad
v —+T1+Db e ta+L—+V+V-+v+Db -Hc+s57 +v+E—GHVtc+57 {-vz;l(i—lé'z—?-ﬁhﬂlggl T(Eﬁl\ﬁfgv_ifﬂ[-_'%ﬂ
—R—+L—+V+T+E+T+Q—+V4C+57+VAGHE—+VAC+57-D—+v+v+v—+L FAic D +T 4V
50% 1
2
0% -
0 500 1000 1500 2000 2500

m)

m)

m)



Relative Intensity Relative Intensity Relative Intensity

Relative Intensity

100%

50% 1

0%

100%

50% 1

0%

100%

50% 1

0%

100%

50% 1

0%

Spot 173 - peroxiredoxin
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Spot 175 - elongation factor 1-alpha
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Spots 45, 46 - peptidase M20
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Spot 55 - sterol 24-c-methyltransferase
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Spot 172 - pyruvate dehydrogenase E1
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Spot 177 - hypothetical protein 2
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Spots 21, 89 - thiol transferase Tc52
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Spot 87 — proteasome alpha 7 subunit
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Relative Intensity

Spot 10 — ATPase beta subunit
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Spot 37 — hypothetical protein 3
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Spot 37 — hypothetical protein 3
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Spot 61 — hypothetical protein 4
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Spot 8 — serine carboxypeptidase
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Spots 30, 35 — actin
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Spots 33, 56 — alcohol dehydrogenase
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Spot 76 — phosphoenolpyruvate carboxykinase
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Spot 93 — arginine kinase
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Spot 53 — enoyl-CoA hydratase

vl
100% 1.189,67 AMU, +1 H (Parent Error: -8,8 p

-6 +—L—+G+—L t Y —L FG—+—L—+—T17—+o¢ A—t R

R A—+G+—T—+—L +G—+—L } Y —L =G —+—L G —

5096 - bé bs
112,17 b3 Y84 2%4-NH3 a5 y6
561,47 7 g
b [v2 4 5 bg ) 0
0% A |’, | i I.' b o by b d ||‘ 1l ||?|?|| L hll8 i ! ..f/flla |
0 250 500 750 1000
m/z
\'s)
100% 1.293,63 AMU, +1 H (Parent Error: -5,5p

—L—+—L— W i E +—D—+ F i N—+—T— R

R —T—+—N —T— F D— E } W —L —L—

50% A
1.098,1?
yl y6
J | b2 ¥ yd3 Yt pa bS J b6  y7 8
0% [ | ! I T \. L.t l Ll ll [T l. o hl. | yl b] ~ Jy] I . ylg II...

0 250 500 750 1000 1250

m/z

m)

m)



Relative Intensity Relative Intensity

Relative Intensity

Spot 68 — spermidine synthase
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Spot 58 — nucleoside phosphorylase
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Spot 178 — cystathionine beta-synthase 6
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Spot 94 — adenylate kinase
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Spots 5, 6 — dihydrolipoamide acetyltransferase
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Spot 48 — phosphoglycerate kinase
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Spot 90 — 2-amino-3-ketobutyrate coenzyme A ligase
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Spot 22 —aminopeptidase
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Spot 22 — cathepsin B
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Spot 82 —1/6 autoantigen
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Spot 74 — arginase superfamily protein
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Spot 79 — t-complex protein 1
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Spot 60 - RNA-binding protein RGGm
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Spot 85 - calpain
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Spot 59 - aromatic L-alpha-hydroxyacid dehydrogenase
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Spot 87 — HSP70
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Spot 12 — hypothetical protein 5
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Spot 99 — IgE-dependent histamine-releasing factor
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Spot 42 — cruzipain
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Spots 18, 43 — calreticulin

vyl
100% 1.183,58 AMU, +1 H (Parent Error: 22 ppn
Y f w——+—L i M i F =G—+—p— f R
R D—+—P—+G— F i M —L— W i Y
50%1 y4-NH3
yB-NH3
y3
0% L | | m | lI .ly..a. .Lm dd In-
0 250 500 750 1000

m/z

=



Relative Intensity

Spot 32 — glycosyl transferase family 2
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Spot 11 — metallocarboxypeptidase
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Spot 36 — oligopeptidase B
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Spot 28 — tyrosine aminotransferase
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Spot 28 — 2,3-bisphosphoglycerate-independent phosphoglycerate mutase
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Spot 12 — phosphoenolpyruvate-protein phosphotransferase
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Spot 44 — UV excision repair RAD23-like protein
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Spot 155 — protein of unknown function DUF909
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Spots 1, 2, 38, 42, 86, 87, 92, 98 — unnamed protein product
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Relative Intensity

Spot 54 — protein disulfide isomerase
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Spot 58 — nucleoside phosphorylase
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Spot 179 — chaperonin GroEL
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Spot 162 — twin-arginine translocation pathway signal
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Relative Intensity

Spot 134 — chaperonin containing T-complex protein
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Relative Intensity

Spot 87 — 2-hydroxy-3-oxopropionate reductase
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Spot 6 — Sorting nexin GRD19 homolog
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Relative Intensity

Spots E3, E4, E11 - heat shock protein 70
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Relative Intensity Relative Intensity

Relative Intensity

Relative Intensity

Spots D24, D28, D31, E1 - heat shock protein 85
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Spots D24, D28, D31, E1 - heat shock protein 85
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Relative Intensity

Relative Intensity

Spots D24, D28, D31, E1 - heat shock protein 85
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Spots D21, D34, E6, E18 - beta tubulin
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Spots E9, E10 - prostaglandin F2a synthase
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Spots D22, E7 - alpha tubulin
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Spots D1, E19 - peroxiredoxin
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Spot E2 - heat shock protein 70
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Spot E2 - heat shock protein 70
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Spots D40, D42, D43 - hypothetical protein 7
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Spot D32 - glutamine synthetase
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Spot D37 - hypothetical protein 8
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Spot D37 - hypothetical protein 8
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Spot D6 - actin

1.108,8?

100% 1.235,74 AMU, +1 H (Parent Error: 22 ppn})
H —v—t F —P—+—S—i —V—t-—c p—i K
K —p —1 R +Fe+—V—"—F+—I—"F—s—F—r,— F —v—i H
50%7
b9
y8N
b2 |y3 Yha  ¥B5 V8o b7 | bytp
0% ol ‘Y'. TN & N |4IL UL 1 Gl apu L ) ..}i LJ . " A
0 250 500 750 1000
m/z
b3
100% 1.514,78 AMU, +1 H (Parent Error: 27 ppn})
— 11— W —H H—+—T— F i Y —N—+—E—+—L—1 R
rR—L—+—E—-N—"+—Y—"+—F—+—T—F+—H—"F—H—+—W—A——
y9
50%7
imm(H) y2
yl
" |1
0 250 500 750 1000 1250 1500
m/z
1.614,0?
100% 1.672,85 AMU, +1 H (Parent Error: 26 ppni)
—K s t+—e —+A+G+—P——S—H—I—V— —N——K—
—K—l—N—I—H—I—V—I—|—|—s—|—P—I-G-I—A E—+—D—+—Y—+—E—+S—+—HK—
i y8 b13
50% y10 b12 b{“
v/ e bl1
0% -

0 250 500 750 1000 1250 1500



Relative Intensity

Relative Intensity

Spot D6 - actin
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Spots D15, D16, D19, D20, D25, D26 - hypothetical protein 9
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Spot D10 - pyrroline-5-carboxylate synthetase
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Spot D29 - hypothetical protein 10
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Spot D4 - 14-3-3 protein
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Spot D5 - spermidine synthase
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Spots E13, E33 - tyrosine aminotransferase
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Spot E8 - sterol 24-c-methyltransferase
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Spot E13 - tryparedoxin peroxidase
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Spot D35 - enolase 1
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Spot D11 - eukaryotic initiation factor 5a
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Spot D23 - chaperonin containing T-complex protein
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Spot E5 - mitochondrial heat shock
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Spot D9 - prolyl oligopeptidase
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Spot - pyrroline-5-carboxylate synthetase-like protein
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Spot D33 - aminoacylase
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Relative Intensity

Spot D2 - proteasome beta 3 subunit
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Spots D12, D13 - hypothetical protein 11
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Spots D27, E2, E3, E4, E5 - heat shock protein 70
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Delta Mass Error (AMU)

Spots D27, E3, E4 - Heat shock 70 protein
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Spot XXX - hypothetical protein CIMG_09544
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